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log, 16 ' llog, 64
* |log, 81 > |log, (V2)
3 |log, 27 B |log, (1/125)
* log, 25 4 l4log, 5
> |log, 32 15 13%log, 4
® |log(1/5) ' |log . 125
7 log, 36 " |log, , (1/32)
® |log, 64 18 log, 6°
? |log, 4 P |5log, 16
' |log 6 % llog, , 27




log, 16 ' llog, 64 6
* |log, 81 /) > |log, (V2) -2
3 |log, 27 3 B |log, (1/125) -3
* log, 25 2 i 4iog4 5 5
> |log, 32 5 > 3% log, 4 16
® |log, (1/5) -1 ' |log . 125 -3
7 log, 36 2 " |log, , (1/32) 5
® |log, 64 3 18 log, 6° P

ﬂ 9
? |log, 4 7 P |5log, 16 16
' |log 6 1 % llog, , 27 -3



! ! . Jlorapudm npousseecHUA PaBCH

cymmMe JJorapu(pMoB MHOKHUTeEJIEH
log_(ab)=1log a+log, b

a) log ;S +log;y 2=log,, (5*2) =1
0) log,, 2 +1log,, 72 =log,, (2 *72) =2
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. Jlorapud¢gm yacTrHOoro paBeH
JorapugmoB aeaumMoro oe3
Jorapudma aeauTeast

log . % =log_a—log_»b

B) log; 75 —log. 3 = log; (75/3) = 2



%. !()rapm])M CTCIICeHHU PaBEH

MPOU3BEICHUIO MOKA3ATE/IA CTEINECHHA
HA Jorapu@m ee OCHOBAHUSI

log._a” =mlog_a

r) log; 3V = (1/7)log; 3 = 1/7
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>. Ilepexoa oT 0AHOI0 OCHOBAHHUSA K
APYromy

log , x

log  x =
log , a

1
log  a

log x =



log,(b-c)
b
loga(z)




2 Ilposepvme :

1
loga B K loga. b
log,b + log,c log,(b-c)
1
log, a log, b
log, a 1
b
log,b log,c log, ()
log, 1 o)
r -log,b log, b"
1
log,e b ¢ log,b



